Seat No. Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination - 2016

Subject Code: Advanced Mathematics (Group-1) Date: 21 /05 /2016
Subject Name: C320002
Time: 10.30 AM TO 12:00 PM

Instructions:
1. Attempt all questions.

Total Marks: 70

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option
If complex number z=3+4i then |z|]=__ .
L TA J15 B. |5
C. | -5 D. |25
If z=2+i and z, =3-2ithen Im(z,+2,)=_
2. A i B. | i
C. |5 D. | -1
.3 -
If z:2|+§ then z=__ .
3 A E—2i B —2i—§
2
¢ —+2i D. 2i—E
2
For z=2+2i,arg(z) =
4 A |0 B T
" |C. | 27 D T
4
If z=4+0ithenz =
S A |2 B. | -2
C. | £2 D. | £2+i
i+i2+i’+it =
6. [A. |0 B. |1
C. |- D. |1
77 =
7 A. |z| B. | |
—2
C |z| D. |1
If z, =4+2i and z, =2+3i then z;z,=_
8. | A | 2+16i B. | 8+6i
C. | 2-16i D. | 8-16i
. 1 1
If z=5+12i then —=—( ).
9 z 169
A. | 5+12i B. | 12+5i
C. | 5-12i D. | 12-5i
.. 4
10. (cos@+ising) =___
A. | cos46+isin46 | B. | cos40-isin46
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C. | sin46+icos40

| D. | sin4@—icos46

if f(X)=2"then f(0)=__ .

11. [A. |2 B. | -2
C. |1 D. |0
If f(X)=log(sinx) then f(ZZJ:: .

2

12.

A. | log(cosx) B. |1
C. 0 D. |0
For f(x):x—_ithen f(lj:_

13 X + X
A | —f(X) B. f(x)
C. 1 D. 0
If f(x)=cosx then f(X)+f(-x)=__

14. | A. 2C0S X B. 0
C. |1 D. —2C0S X
If f(x)=x*-3x+2then f()=__

15. [A. |6 B. |1
C. |0 D. |4
.a"-1
e

16, —

6 A |1 B. |0
C loga D. | logn
l tan 360
o 9 —

17.

A |1 B. 1/3
C. |0 D. |3
. X+3
leLr}m:

18.

8 A. |2 B. 4
C. |5 D. |0
. X?P=3x+2
lim =

19. X—>2 X—2
A |1 B. 0
C. |3 D. |2

e* -1
lim =

20 x—0 X
A. |2 B. 1
C. |3 D. |0
. 1-cos” X
li > =

21 x—0 X
A. |0 B. 1
C. |2 D. |3
l 2%”:

22, | == N
A |2 B. 1
C. |0 D. | ©
i(Io X) =

23, | g 09N=
A | x |B. | —x
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C. | -1 D. |1
X X
N 0 dy
For y=sin30 , —=
y dx
24. | A. |2 B. 1
2
C. |0 D. |1
If y = (x+2)° then @ _
dx
25. AT 3(x+2) B. | 2(x+2)°
C. | 3(x+2)? D. | 3(x+2)°
1 dy
If y=(x)2 then —=
y ( ) dx. —
Al Ux B. ~_Jx
26. — —
2 2
& PN
2
For y=sinx,d—Z:_
27. dx
A |y B. |0
C. |y-1 D. | 7Y
i[Iog(sec X)] =
dx
28. | A. | cotx B. Sec X
C. | tanx D. 1
Sec X
. dy
=sin@,x=cos@ then — =
y X —
A | —x B. | x
29. — o
y
X X
If y=¢e"" then &y _
30 dx _
LA | esinx B. | e cosx
C. | goosx D. | e**cosx
2 2 dy
If y=sec®x—tan”x than —=
dx
31.
A |1 B. |0
C. | -1 D. |2
a dy
If x=at,y=— then —=
y t dx
A | —x B. | x
32. — o
y
X X
33. dy

If 3x? = xy then — =
y dx
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A |3 B. | 6x

C. |x D. |1
_ yo¥ y _

If y=xe" then —=

34 TA. | xe*+1) B. | e*(x+1)

C. | x(e*-1) e*(x-1)
I
_ 109X then gy =
dx
A. — B. _
35, 1 I(zg X X Igg X
X X
C. | 1+logx D. | x+logx
x° x?
d ..
—(tan™" x) =
=
A. -1 B. -1
36 2 2
1+x 1-x
C. 1 D. 1
1+ x* 1-x°
The maximum value of a function f(x)=sinx is

37. |A. |0 B. |1
C. |1 D. |2
Equation of the motion of moving particle is given by s =t*>—2t+1, then find the

38 velocity at t =1seconds.

" A. | Ounit B. | 1unit
C. | 2unit D. | 3unit
2
If y=e* then d—Z:

39.

A | 2" B. | 4¢*

C. 2e2x D 4e2X
d X X

&(X )=x(___ ).

40. A. | 1+logx B. | 1-logx
C. | x*(+logx) D. | x*(1-logx)
I3x2dx =

41. A. 6X+C B. 6 X
C. | ¥+c D. | 6x®+c
jexdx =

42. | A. e*4+¢ B. e 4
C. | e¥sc D. |1
J. f (X)dx:

f(x)

43 A T log[f (0]+¢ B. | log[f(x)]+c
Coln[feo] " +c D loglf () + f (x)]+c
jseczxdx =

4. A T tan2x+c B. | secxtanx+c
C. | secx+tanx+c D. | tanx+c
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45.

I(cosec2 X —cot? x) dx =

A |0 B. |1
C. | cosec2x+c D. | x+c
dez
X+2 -
46. | A. | log(2x)+c B. | log(x+2)+c
C. 1 D. 2
—————+¢C —————+¢C
log(x+2) log(x+2)
.[ ! 5 dx =
47 1+x
A | —tantx+cC B. fanx+c
C. tan*x+c D. 2X+C
d -
I {&(\/sm 2X):|dX—
48. | A. 1 e B. 2 e
Jsin 2x Jsin 2x
C. | Jsin2x+c D. | 2sin2x +c
Iseczx dx=
49. 'A. [ secxtanx+c B. | tanx+c
C. | tanx+c D. | secx+c
I x® dx =
50. | -=
A |0 B. |7
C. | -2x D. | 2«
h (5 (3
If | f(x)dx=|~———~=|then f(x)=
! (x) [ s 0=___
5L A T 2x B. | 3y
C. X2 D. NG
3
.fu(x)v(x)dx u(x)jv(x)dx IH—U(X)} }
52. | A | Ju(x)dx B. jv(x)dx
C. D.
—[u(0] —[v(x)]
If area of the region bounded by the curves y* =axand x* =ay is 1% sg.unit then
a=__
53. [A. | #1 B. |1/3
C. ;E_ D. __E_
B B
100
-
54, | 1LX
A. | logl B. | log100
C —log100 D. | logl0
1
| et dx == +C
55. | | Al ]
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A. x* B. x°
C. | 5x* D. 4x*
[(2x-1) dt= +c.

56. | A. | x> —2x+cC B. | x¥*+2x

C. | (2x-1)t D | (2x-1)
3 2
Order of the differential equation (d—gj _Yy +2y=0is .

57. dx dx
A |1 B. |2
C. |3 D. |6

2
Order of the differential equation , /d 2/ =3 /ﬂ is :

58. dx dx
A |1 B. |6
C. |3 D. |2

dy) (dyY
Degree of the differential equation ( 2/ +(—yj +y=0is

59. dx dx
A |1 B. |2
C. |0 D. |4

: . : d?y ).
Degree of the differential equation y =sin > |1S

60. dx
A |1 B. |2
C. |0 D. | Not defined.
y =mx+cis a solution of the differential equation
A. .

dy -0 B ay = mX

61. dx dx

C. d 2y D. dzy
ax’ dx>
arbitrary constants are there in to the differential equation of order two.

62. |A. |1 B. [0
C. |2 D. |4
The solution of a differential equation % -y=0is

63 [A Ty=e" B. | 2y=3x
C. | ye*=0 D. | y+e*=0

is a homogeneous function.

64. | A | Fxy)=x"+xy B. | f(xy)=x"+y’
C. f(X,y)=x +xy D. f(X,y)=x+xy
Solution of the differential equation x dx—y dy =0is :

65 |A. | X+ty=C B. | x¥*+y’=c
C. Xy=¢C D. x2_y2:c

. . . .oody oy
For the linear differential equation o x e’ ,P(x)=
66. |A. |1 B. | 1
X X
C. | x D. | —x
- - oAy Yy o
67. | The L.F. of a differential equation ™ + i X° s
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AL B. | %
X

C. ||¥ D. | _x?
: . . . d .
I.F of the linear differential equation d—i+ yCOt X =COSX is
68.
A. | sinx B. | cotx
C. | cosx D. | tanx
The solution of differential equation % =e" is
69.
A. e*+e ¥ =¢C B. e*+e’ =c
C. |e*4e¥=¢ D. | e*+eV=c¢
: . . . d X -
I.F of the linear differential equation d—§+ ycosx =e’* is
70 A. esinx B. ecosx
C. e—sinx D. e—cosx
*hkkkhkhkkhkhkhkiikiik
sl
ol | usl Aues [Ascu.
Us2 Al z=3+4i 8, A |7=__.
L TA T15 B. [5
C. | -5 D. |25
B z,=2+i A z,=3-2i &, A Im(z,+2,)=
2. [ATi B. | i
C. |5 D. | -1
Rz-2i+) dad 2=
3. A §—2i B. —2i—§
2 2
¢ §+2i D. 2i—§
2 2
o z=2+2i &, arg(z)=_ .
4 [A |0 B. |«
C 27 D. 4
4
°a. E=4+Oi @u,cﬂ \/_:—
5 [A ]2 B. [-2
C. | +2 D. | £2+i
i+i%+i+it =
6. |[A. |0 B. I
C. |-i D. |1
77=
7. 1Al B
C. |;|2 1
8. |l z,=4+2i A z,=2+3i A, zz,=_ .
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A. | 2+16i B. | 8+6i

C. 2-16i D. 8-16i
. 1 1

o z=5+12i SlaA,dl ==——( ).

9 z 169
A. | 5+12i B. 12+5ij
C. 5-12i D. 12 —5i
(cos@+isin 49)4 =

10. A [ cos46+isin46 B. cos40 —isin46
C. sin46+icos46 D. sin4@ —icos46
B f(x)=2"aad f0)=__ .

11. A |2 B. | -2
C. |1 D. |0
%8l f(x) = log(sin X) @u,&lf(%):

12.

A. | log(cosx) B. |1
C. | w D. |0
f(x):x—_il-llé f(lj:_

13 X + X
A [ —f(x) B. | f(x)
C. |1 D. |0
%l f(x)=cosx &l f(x)+f(—x)=

14. A T 2cosx B. |0
C. |1 D. —2C0S X
Al f(x)=x>-3x+2 &l f()=

15. A T6 B. |1
C. |0 D. |4
.a"-1
L

16.

6 A |1 B. 0
C. | loga D. | logn
. _tan36
IHI—r)r(]J 9 —

17.

A |1 B. |1/3
C. |0 D. |3
. X+3

e —

18.

A |2 B. |4
C. |5 D. |0
. X?P=3x+2
lim =

19 X—>2 X—2
A |1 B. |0
C. |3 D. |2
|
lim =

20 Xx—0 X
A |2 B. |1
C. |3 D. |0
i 1-cos’ X

21. | x50 2 —

A. |0 |B. |1
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C. [2 [D. [3
lim 220 _
22, | >~ N
A ]2 B. 11
d
—(logx) = .
o 09 =____
23. [A. [ x B. |-X
C. [ D11
X X
U dy
%l y=sin30 &, o —
24. [A ]2 B. |1
2
C. |0 D._ |1
A y=(x+2)° &l cll g—iz_
25. AT 3(x+2) B. | 2(x+2)°
C. | 3(x+2)° D. | 3(x+2)°
1 dy
AT & B —Jx
26. —
2 2
C. | ¢ D | 1
N X
2
y=sinx Hl& d Y-
27 dx
A Ty B. |0
C. |y-1 D. | 7Y
i[Iog(sec X)] =
dx
28. | A. | cotx B. | secx
C. | tanx D. | 1
sec X
. dy
y=sing,x=cosd &l x —
A —X B. | x
29. - v
y
x X
If y=¢""* then d_y:_
30 dx
LA | esinx B. | e cosx
C. | gowosx D. | e**cosx
%l y=sec’ x—tan®x &, cll d—y=_
31. dx
A |1 B. |0
cC. |1 D. |2
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sl x=at,y:% aa,dl d_y:_

dx
A. —X B. X
32. — 2
y
C. y D. -y
X X
2 dy
ol 3x% = xy &lA,cl ==

33. dx
A |3 B. | 6x
C. |x D. |1

x dy
ol y=xe* &lat,cll ol
34 TA | x(e*+1) B. | e¥(x+1)
C. | x(e* -1 D. | e¥(x-1)
_logx e W .
X dx
A. - B. -
35, 1 Ic;gx X Iggx
X X
C. | 1+logx D. | x+logx
X2 x?
d 1
—(tan™" x) =
St =
A. -1 B. -1
36. a _
1+X 1-x
C. 1 D. 1
1+ %2 1-x?
f(x)=sinx oll HelH SlH .

3. TA. To B. |1
C. -1 D. 2
As oA scll 50lo] UH$WL s=t2—2t+18, t=1 A5cd Aol A2 &9l

38. A [0unit B. |1 unit
C. | 2unit D. | 3unit

2x dzy
A y=e> sa,dl — =

39, dx
A | 2e" B. | 4¢*

C. 2e2x D 4e2X
d X X
—(x) = x .
dx( ) ()

40. A 1+log x B. | 1-logx
C. | x*(1+logx) D. | x*(1-logx)
.[3x2dx=

4L A [6x+c B. | 6x
C. | ¥+c D. | 6x°+c
Iexdx:

42. | A. e’ +c B. e2x +C
C. eX ic D. |1
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j f(x)

43 TA [ logf (x)]+c B. [ log[f(x)]+c
Co [ n[fo] ™+ D. | log[f (x)+ f (x)]+c
jsec xdx =

4. A T tan? xac B. [ secxtanx+c
C. | secx+tanx+c D. tan x+c
J’(cosec2 X — cot? x) dx =

4. A To B. |1
C. COSec2x+c D. X+C

X+ 2 -
46. | A. | log(2x)+c B. | log(x+2)+c
C. 1 D. 2
— +cC —  +cC
log(x +2) log(x +2)
J' 1 5 ax =
47 1+x -
A _tan_lx_|_c B. tan X+c
C. tantx+c D. 2X+C
d -
f {&(\/sm 2X)}dX=
48. | A 1 te B. 2 ‘e
Jsin 2x Jsin 2x
C. | Jsin2x +c D. | 2sin2x +c¢
Iseczx dx =

49. 'A. | secxtanx+c B. | tan2x+c
C. tanXx+c D. SeCX+C
j X3 dx =

50. | =
A. |0 B. T
C. 27 D. 27

5 5° (3)°
%\ jf(x) dx = 6 _6r s, dl f(x)=
3 3 3

5L "A T 2x C 32

C. | y2 D. | ¥
3
ju(x)v(x)dx u(x)jv(x)dx IH—U(X)} }
52. | A | [u(x)dx B. Iv(x)dx
C. d D.
—lu(x V(X
£ [u00] 2 [veo)
asl y?=ax A x2=ay Al AUROIEA uéatoj Aasa 167 QA5 fla,dl

53. a =

A. \ |B. |13
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cC. |1 D. [ 1
V3 V3
100
o

54, | 1LX
A. | logl B. | log100
C. | —logl100 D. | logl0
je‘”"gexdx = J+c

55. A T R
C. | 5x* D. | ax*
I(Zx—l) dt = +C.

56. | A. | x> —2x+cC B. | x*+2x
C. | (2x-1)t D | (2x-1)y°

d°yY dy
(@Qsct alls2u vl —d—+2y=0<r[1 s&ll )
X X

57,
A |1 B. |2
C. |3 D. |6
Qs ulszual 4/ / ol st ®.
58,
A |1 B. |6
C. |3 D. |2
d’y ’ dy \’ -
Qs ulszul (—ZJ +(—j +y=00f URHEL .
59. dx dx
A |1 B. |2
C. |0 D. |4
@Qsc wlls:w y= sm( J of URHIRL B
60.
A 1 B. |2
C. |0 D. | Not defined.
y=mx+cis A [Asd uls:wal Al G3A B.
A. | dy B. | dy
Y _o < =mx
61. dx dx
C. | g2 D. 2
d’y _ %y _
dx? dx?
G2 satett [@Qsct aHlsal R WAL alaL.
62. A 1 B. |0
C. |2 D. |4
@Qsct aHls20l %—yzo ol G5 .
63. TA Ty=e~ B. | 2y=3x
C. | ye'=0 D. | y+e*=0
U wWilela (@ ®.
64. | A. | f(x,y)=x+xy B. | f(x,y)=x*+V?
C. | f(x,y)=x +xy D. | f(x,y)=x+xy
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@Qsd uls?el x dx—y dy=0 ol B3 .

65. | A X+y=C B. X2+y2=C
C. Xy=c¢C D. X2—y2=C
i Qsct wdseal YoY oo wd px) = .
dx X -
66. | A. 1 B. 1
X X
C. X D. —X
A A Bl 2+ =x" ol ASCASIRS A :
Qsc alls? gi z 2 o) UscaASIRS R)
67. |A |1 B. [ ¥
X
C. |x| D. | _x2
SC UHISWL —+ycotx=cosx ol AscUsSIRS v .
Qs wdll ji 1 B
68.
A. | sinx B. cot x
C. COS X D. tan x
SCL UHISQL —=¢ ol A )
Rsct wdl 31 “r oAl G3 ®
69.
A | e¥+eY =¢ B. e*+e’ =c
C. | e>*4+el=¢ D. |e*+e?V=c
Qs ulszul a ycosx =e®* oll AscASIRS W .
dx -
70 A esinx B ecosx
C. e—sinx D e—cosx

kkhkhkhkhhhkhkkkkkkk

13/13




